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36.

37.

38.

39.

40.

146

36-40) The
questions are designed to test your
knowledge of English Vocabulary.
Choose the correct word from the

options given below and
shade/blacken it on the answer
sheet.

Fortune telling through reading of
palms

(1) Chronology

(2) Chiromancy ./

(3)" Chagrin

(4) Chiaroscuro

A state of a person in which he has

to choose one of the two

unfavourable things or situations.

(1) Deism

(2) Dilemma
ichotomy

(4) Dualism

Geographical phenomena  when

days and nights are equal

(1) Solstice VvV

(2) Polar

(3) Equinox

(4) Eclogue

Animals living in flocks
(1) Social

(2) Gregarious v
()" Fusion

(4) Equine

A list of books with details of
authorship, edition, subjects etc.
(1) Bibliography ./
ompendium
(3) Lexicon
(4) Thesaurus

Directions :

41.

42.

43.

44,

(7-A)

From Question No. 41-44,
choose the correct sentence among
the sentences given below and
shade/blacken the correct answer in
your answer sheet.

(1) The scenaries of Kashmir
capture tourists” minds.

(2) The scenaries of Kashmir
capture a tourist mind.

(3) The scenary of Kashmir

capture tourists’ minds. v/
(4) The Kashmir scenaries capture
a tourist mind.

(1) Each girl and each boy were
given a prize.
(2) Each girl and each boy was

given a prize. /

(3) Each girl and each boy have
been given a prize.

(4) Each girl and each boy will
have been given a prize.

(1) The horse and carriage are at
the door.

(2) The horse and carriage were at
the door.

(3) The horse and carriage have
been at the door.

(4) The horse and carriage is at the

door. ./

(1) The quality of managers was

notgood.. /

(2) The quality of managers were
not good.

(3) The quality of managers have
not been good.

(4) The quality of managers are
not good.



Directions :

45.

46.

47.

48.

49.

146

Each of the question from
45-49, has a word given in the
beginning followed by four options.
You have to identify the most
appropriate meaning of the word
among the four options and mark
the corresponding answer in your
answer sheet.

Alma mater :
(1) Native village or town or city
(2) School College or university a

person has once attended. ./
(3) Domicile
(4) National

Prima facie :
(1) Primary
(2) Important

(3) Accepted as correct until

proved otherwise
(4) Evident

De facto :

Directions :

50.

ol.

52.

1)
()

Not existing
Existing in fact

3)
(4)

Modus operandi

1)
(2)
3)
4)

Dead
Unavailable

A module

Operational

A mode

A way of operating /

Impostor

(1)
)
3)
(4)

Impressive person

Peremptory

A person who imposes rules

A person who makes deceitful

pretence ,,

8-A)

53.

54,

For Question Nos. 50-54,
choose the word which is an
antonym of the given word and
mark the appropriate answer in your
answer sheet.

Meticulous :
(1) Mutual
(2) Shaggy
(3) Meretricious
(4) Slovenly /

Lend :

(1) Borrow
(2) Cheat

(3) Pawn

(4) Hire

Patchy :

(1) Attractive
(2) Uniform
(3) Simple
(4) Clear

<

Industrious :

(1) Indifferent
(2) Indolent
(3) Casual

(4) Lazy

Synthetic :

(1) Affable

(2) Natural
(3) Plastic

(4) Cosmetic




Directions :

55.

56.

57,
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For Question Nos. 55-59,
understand the meaning of the
underlined idioms and phrases in the
sentence and mark the correct
option in your answer sheet.

Their father’s will has created a
great deal of bad blood between the
two brothers.

What does the underlined
mean?

(1) ill feeling v
(2) murder

(3) jealousy

(4) competition

idiom

It is time that professors came down
from their ivory towers and studied
the real needs of students.

What does the underlined
mean?

idiom

(1) Luxurious homes
(2) Dreamlands ./

(3) Detachment and seclusion
(4) Superior attitude

His habit of nitpicking always
irritates his colleagues.

What does the wunderlined word
mean?

(1) Finding fault v/

(2) Blaming others

(3) Pulling other’s legs

(4) Worrying about unimportant
details

58.

59.

Directions :

60.

(9-A)

I know his humble background and
therefore it is funny to see him ride
the high horse.

What does the underlined
mean?

idiom

(1) Learnriding
(2) Putonairs
(3) Buy expensive cars

(4) Treat his horse cruelly

Experts in the history of the
relationship  between the two
countries take a_jaundiced view of
the likely success of the peace talks.

What does the underlined idiom
mean?
(1) Prejudiced v
(2) Sick
(3) Grim
(4) Negative
For Question Nos. 60-64,

choose the option which is the
correct response from given
alternatives for the underlined
expression and mark the answer in
your answer sheet.

There is a certain type of diseases
which cannot be cured

(1) are certain types of diseases .,
(2) will be certain type of disease
(3) can be certain type of disease

(4) should certain types of
diseases




61.

62.

63.

64.

Directions

146

We should avoid go where we are
not respected.

(1) avoidgoing
(2) avoid visit

(3) avoid meet

(4) avoid interact

| have borrowed a book from one of

my friend.
(1) one of my friends

(2) one of his friends
(3) one of their friend
(4) one of their friends

Mr. Shashi is not pulling on well
with his wife.

(1) not keeping on
(2) not placing on

(3) not adjusting on
(4) notgettingon s

The minister’s working style is
different from his predecessor.

(1) previous

(2) unique

(3) present one

(4) predecessor’s

: For Question Nos. 65-67,
read the following passage and mark
the correct answer for the questions
given below in your answer sheet.

Non-verbal communication includes
the way we speak and move, our
gestures, the physical distance

65.

66.

(10 - A)

between the speaker and the hearer,
facial expressions, etc. Kinesics is
the study of the visual aspects of
non-verbal interpersonal
communication. It may be the
closing and the opening of the
eyelids, winking, blinking, the way
one looks, movement of hands etc.
This may be called *body language’.
The study of gestures is interesting
as a subject in itself. Gestures vary
from community to community and
the same gesture may mean
different  things in  different
communities. Proxemics is the study
of the ways in which space is
handled in human communication.
Spatial changes give a ‘tone’ to
communication.  The  distance
between people may function as an
aid to communication.

The study of visual aspects of non
verbal interpersonal communication
Is known as

(1) Chronemics
(2) Proxemics
(3) Haptics

(4) Kinesics

Identify the aspect of human
communication  studied  under
Proxemics.
(1) Touch
(2) Time

(3) Space o
(4) Body Language



67.

Directions :
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Identify the aspect that does not
come under body language.

(1) The way one looks

(2) Hand movements

(3) Opening of eyelids

(4) Time Management

For Question Nos. 68-70,
read the following passage and mark
the correct answer for the questions
given below in your answer sheet.

In advertising, the encoding of
messages and the conversion of
mental concepts into symbols is the
responsibility of the creative team.
While the client is the sponsor of the
advertising, the creative team is the
author. Each member of the creative
team plays an essential role. The
team’s copywriter develops the
verbal message and the copy
(words) within the advertisement
spoken by the imaginary persona.
The copy writer typically works
with an art director who s
responsible  for the nonverbal
aspects of the message, the design,
which determines the visual look
and intuitive  feel of the
advertisement. Together they work
under the supervision of a creative
director  (typically, a former
copywriter or art director) who is

68.

69.

ultimately  responsible for the
creative product or the form the
final ad takes. As a group, the
people who work in the creative
department are generally referred to
as the creatives, regardless of their
speciality.

Who is responsible for the design of
the non-verbal aspects of the
advertisement ?

(1) The actors

(2) Theartdirector ,

(3) The viewers of the
advertisement

(4) The users of the product

Who are referred to as the creatives?
(1) The clients of the product
(2) The sponsors of the ad

(3) People in the
department ./

creative

(4) The consumers of the product

70. ldentify the task which is not a

(11-A)

responsibility of the creative team:
(1) Sponsoring the advertisement

(2) The encoding of messages
(3) Developing the verbal message

(4) The conversion of mental
concepts
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Which of the following is an
example of binary number.

(1) AIBCDI
(2) 23412
(3) 100101 v

(4) All of the above

The basic unit of a worksheet
into which you enter data in
excel is called

(1) Cell
(2)
3)

(4)

4

Table
Box

Field

A website’s main page is called
(1)
(2)

Home Page

Bookmark
3)
(4)

Browser page

Search page

(13- A)

75,

76.

74. What is the shortcut of printing a

document for computer having
windows ?

(1) Shift +P
(2)
(3)

(4)

Alt+P

Control +P

Control + Shift + P

The term Pentium is related to
(1) Hard Disk
(2) Motherboard

(3) Microprocessor .,

(4) Memory chip

The base of the hexadecimal
number system is

(1) 2
(2) 8
3) 10

(4) 16 v
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80. USB o3 o3z nio®d zirgjedez?‘

81.
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(14 - A)
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(2) Q3eods s
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(1) DMOS
(2) POST V
(3) CMOS

(4) RIP

EXIF3 omd@ed ?

(1) Exchangeable Image File
Finish
(2) Exchangeable Image File

Format

(3) Executable Image File Format

(4) Executable Image File Finish
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Process in which, data is
accumulated and processed in a

group

(1) Group Processing

(2) Batch Processing ,

(3) Time Sharing

(4) None of these

Which of the following is true
about firewalls ?

(1) Follow a set of rules

Can be either hardware or
software device

(2)

(3) Filters Network Traffic

(4) All of the above

Choose the largest memory size.
(1) Kilobyte

(2) Megabyte

(3) Gigabyte

(4) Terabyte

(15 - A)

80.

81.

82.

USB is which type of storage
device ?

(1) Binary

(2) Secondary ./

(3) Tertiary
(4)

None of the above

Which program is run by BIOS
to check hardware components
are working properly while
computer is turn on ?

(1)
POST v

DMOS
2)
(3)
(4)

CMOS
RIP

What is the full form of EXIF ?

(1) Exchangeable Image File
Finish

(2) Exchangeable Image File
Format

(3) Executable Image File
Format

(4) Executable Image File
Finish
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Who invented C ++ ?
(1) Steve Jobs
(2) James Gosling

(3) Bjarne Stroutstrup

(4) Dennis Ritchie

Which function key is used to
check spellings ?

1) F2
2) F5

B) F7 v

4) F1

Which type of storage device is
BIOS ?

(1) Primary .,

(2) Secondary
(3) Tertiary

(4) Not a storage device

(17 - A)

86.

87.

88.

Which
Database ?

term is related to

(1) PHP

(2) JAVA
(3) Oracle v
(4) Assembly

Where is the Cache memory
located ?

(1) CPU v
(2)
(3)

(4)

Monitor
Scanner

On file server

What kind of language is C ?
(1)
(2)

An Assembly Language

A third generation high

level language

©)
(4)

A machine language

Future language
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90.

91.
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TR 9
(1) RAM
(2) ROM
(3) Cache

(4) HardDisk v

20T
STIION® HTFT CSRJT 9

Apple

(1) Linux
(2) Windows

(3 MacOS ¢

(4) DOS

8 FINIYNYY  BRZY @i@fmg
ROTRTYT WRRT Je3To ?

(1) 10
(2) 100
(3) 300

(4) 500

e.—vzfi)m@@ﬁ@@m@@s
® o 6

92. T2

93.

94.

(18 - A)

PBFIY  woTd  TeerE
ma%rcsmo1 e B STRTBWVD ?

(1) 28E IP0T
(2) SeesrfR0T
JeesE

Q) oFF.2%F. 2FFIY

~

mcércsab& Xe3® RIVTED

mqﬁéébe% v

(4) W BRJ0T

DT .REE. RIS TY 33 s
O3TYT LOTRTIT W,

L /v
® o
(3) Div
4) \

RTF. DT .RFTIY B Ty IR
FeF FoWowrs HRLOTI FHOASTHT
DT VY. B FINIYNPOT BOA.

(1) ©eF se wBID

(2) F23¢ 2.2
(3) AT, B §F SRR

(4) Px=0Fo
SRR

NRIGEIN ol
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Which among the following is
odd one ?

(1) RAM
(2) ROM
(3) Cache

(4) Hard Disk v

Which operating
developed by Apple ?

system is

(1) Linux
(2) Windows

(3) MacOS

(4) DOS

Which of the following is not a
valid zoom percentage in excel ?

(1) 10
(2) 100
(3) 300

(4) 500

92.

93.

94,

(19 - A)

How can one set a page border in
MS-Excel ?

(1) From Edit Menu
(2) From Home

(3) One cannot set a page

border in MS-Excel ./

(4) From Tools menu

Which among following is a
divide symbol in MS-Excel ?

aQ !/ v
(2) D
(3) Div

(4) \

Which one is not the correct
method of editing the cell
content in MS-Excel ? Choose
from the following :

(1) Pressthe Alt Key /

(2) Pressthe F2 Key
(3) Double click the cell

(4) Click the formula Bar
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ﬁ@% %E@omfaia& FeOTOTO 2
(1) 40

(2) 45 o
(3) 50

(4) oéonys

TORFST  B0FeF  SHed3  IRF
nTE m%osdao&s Qe TOOW®

nog, @x%?

(1) 8pt

(2) 10pt

3 12pt

4) 14pt

8 FINIPYNTY Bz S7° Aerorr
A0 ?

(1) »one® (03)
@ sue ©

(B) @z (&) v

@) OB (W)

98.

99.

100.

méﬁ&wsf Q0T ﬁééics d%ﬁ%zﬁc@
2,03 2O eﬁoﬁ%o:bocs
) %@wm& PEF Io&.

(1) Bz oheder

(2) o =e® o v

(3) TJeeBron ceEF

(4) SoBR0 chHREE

O3RE  REPROD  Ned  CROZNYY

MS-Windows =08 MS-Dos R,
@m@@pmxmms 2

(1) [Iece eon
(2) «oEIe 2eon
(3) =wecse wveen

(4) ool 29’

B FNSHRYY
BRI O30T ?

C RN

(1) Scanf ()

(2) Strlen ()

(3) typedef

(4) Clrscr ()

(20 - A)
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How many maximum columns
can be inserted in MS-Word
document ?

(1) 40
(2) 45 v

3) 50

(4) Unlimited

What is the default font size of
new word document based on
normal template ?

(1) 8pt
(2) 10 pt
3) 12pt v
@ un

Which of the following line

spacing is invalid ?
1)
(2)

(3) Triple
(4)

Single

Double

Multiple

98.

99.

100.

Magnetic Ink character

recogniser is

Fill in the blank with the correct
option.

1)
2)
3)
(4)

An Output Unit

An Input Unit

A Processing Unit

A Memory Unit

MS-Windows and MS-Dos
systems were developed during
which generation of Computers?

(1) 1 Generation

(2) 1l Generation

(3) I Generation

(4) 1V Generation /

Which one of the following is a
token of C-Language ?

1)
()
3)
(4)

Scanf ()
Strlen ()

typedef ./

Clrscr ()

1-A)
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